2.0A.C.4: Use addition to find the total number of objects arranged in rectangular arrays.

Finds the products by counting the groups of objects shown.

56666
&56666

5 groups of 2 =

2 groups of 3=

4x2=___ 2X3=___

3 groups of 5 =
3x5=__

2 groups of 6 = 3groupsof6=__

2X6=___ 3X6=__
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2.0A.C.4: Use addition to find the total number of objects arranged in rectangular arrays.

Answer Key

56666
56666

5groups of 2=_10_

Finds the products by counting the groups of objects shown.

2 groupsof 3=_6
2Xx3=_6_

2 groupsof 6=_1
2X6=_12_

3groupsof 6=_1
3x6=_18
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